Efficiency vs Dxy(PV)

E 0.2
50.18|
S
0.16]
2
20.14
5]
'50.12
e
® 0.
0.08
0.06
0.04
0.02

0.

'_‘—25_

20-15-10 -5 0 5 10 15 20 25
TP dxy(PV) (cm)

—=— DQM_V0001_R000000001__Global__mkFit_batchNO-100
—e— DQM_V0001_R000000001__Global__mkFit_batchNO-100-function
—— DQM_V0001_R000000001__Global__mkFit_batch16-100-function

o o
)] fer] =
T e

efficiency vs dxy(PV.

I
S

iy . . .

0.

921708060402 0 02040608 1

TP dxy(PV) (cm)

Efficiency vs Dz(PV)

S 0.5

o
)
ol
L LN L L) AL LRy LAy L LR L

-20 -10 0 10 20 30
TP dz(PV) (cm)

0.5 1
TP dz(PV) (cm)




	Contents
	Page 1


